BUILDING SPECIFICATIONS AND GENERAL NOTES

BULDNG AREA:
OWNERS INFORMATION: INFORMATION: ~ AREA OF WORK:
BULDING DESIGN ~ MEZZANINE AREA: 0 st
- NAME:  AMERICAN RENTALS - BEsien cooe: 2018 COMM BIDG CODE. ~ EXISTING BUILDING ARE/ 0 SFT
Z ADDRESS: W367S4601 HIGHWAY 67 - USE OF B HANGAR = TOTAL BUILDING AREA:
SomY:  DOUSVAN Z Sccupancr- mssmcmw GROUP (5=
- STATE: - CONSTRUCTION o 58 ALLONABLE AREA:
- 7P 53118 - 3 - 9000 SOFT
~ FRE Sireression svsew:  fo.  PERINETER INCREASE 0 ST
= SPRINKLER INCREASE 0 st
= TOTAL ALLOWABLE AREA: 3000 SGFT
BULDING DESIG
LoAds: SNOW. SEISMC
300 PSF | BWS. ~ SESMIC MPORTANGE FAGTOR: 1,00
080 EXPOSURE
100 SOEFTIENT 0090
2 TRA RESPONSE
2073 PSF ” COEFFICIENT S1: 0072
z — SITE GLASSFICATION: o
088 — SESMIC DESICN CATEGORY: B
12.87 PSP £
() S
“WITH UNBALANCED LOADS AS REQUIRED
MAJOR STRUCTURAL
‘COMPONENTS. COLUNNS' ~ AL LAMINATED COLUMNS SHALL BE MDWEST MANUFACTURING'S, RIVET CLINCHED, WITH STEEL REINFORCED JOINTS
UNLESS SPECIFIED OTHERWISE.
TRUSSES” ~ DESIGNED IN_ACCORDANCE T0 2015 I5C
TPl APPROVED
THIRD PARTY INSPECTED
~ MIDNEST MANUFACTURING TRUSS QUOTE NUMBER: QTREC0843974
~ LATERAL BRACING IS REQUIRED. SEE TRUSS SPECIFICATION SHEET(S) FOR LATERAL BRACE LOCATIONS.
STEEL PANEL: |~ MIDWEST MANUFAGTURING'S PRO—RIS STEEL PANEL
0142° MINIMUM THICKNESS BEFORE PAINTING
01657 NOUINAL THOKNESS AFTER PANTNG
G50 _GALVANIZED GOATING PLUS ZING PHOSPHATE
40 YEAR PANT WARRANTY
STM-AB53 GRADE 80 (FULL HARD STEEL)
52005 Pl MINMOM TENSLE. STRENGTH
PLEASE NOTE:

STEEL TRINS.

FRAMING FASTENERS:

PANEL FASTENERS:
HANDLING AND STORING"

~ DESIGNER LIABILITY LMITED TO THE PREPARATION OF THE DRAWINGS WITH THE PARAMETER CONTRACTED AND ASCERTAINING TO CODE
COMPLIANCE.

THESE DRAWINGS ARE DIAGRANMATIC AND SHALL NOT BE SCALED. ADDITIONAL DATA SHALL BE RECEIVED FROM THE ENGNEER
THROUGH WRITTEN CLARFICATION ONLY. VERFY ALL' EXSTNG CONDITIONS, ELEVATIONS, 4 GIMENSIONS BEFORE. PROCEEDING WITH ANY
PORTION OF ANY WOK
RO ChANGES, MOBIEATIONS, oR DEATIONS SHALL B MADE FROM THESE DRAWINGS OR SPECFICATIONS WITHOUT FIRST SECURING
VRITEN PERMSSION FRON THE ENGIN
= VHERE LACK OF INFORVATION, O Y DISCREPANCY SHOULD. APPEAR IN | THE DRAWNGS OR SPECIFICATIONS, REQUEST WRITTEN
INTERPRETATION ENGINEER BEFORE PROCEEDING WITH THAT POF
WRORTANT! ws aumwa 3 DESIGNED, USING THE ROGF AS A DIAPHRAG o (DEEP N BEAV) TO TRANSFER SDEWALL AND ROOF
WIND LOAT WALLS, STEEL PANELS ARE AN INTEGRAL PART OF THE BUILDING STRUGTURE AND ANY FUTURE
TELD MODEICATIONS MADE WAY B2 DETRMENTAL To' TE. BULDNG'S STUETURAL PERFORMAN
— RGOF SYSTEM USES A"SUIPPERY ROGF SURFACE THE USE OF ACGESSORIES T0 PREVENT THE 'SDING OF SNOW IS NOT PERVITIED,

QNER, RESPONSBLE FOR VEREYNG SITE SOLL CONDITIONS. ALL SOLS T0 WEET OR EXCEED REOUIREMENTS AS REFERENCED N THE

GENERAL NO GEQTECHNICAL ENGINEER I
L SOILS BFLOW CONCRETE SLALL BE & NOV-FROST SUSCERTIBLE SOL AS REQUIRED IN ASCE 32.
FOOTINGS 10 BE ABOVE, THE WAT

- R N UNDISTURBED NORGANIC SOL GR SOLL COMPACTED. T0 95% MODFIED PROCTOR DENSITY:
- sc\L DES\GN EASED 0 IBC CHAPTER 16 (GRAAPTERS

- L TYOE FROU WEB SO SORVEY, USOA AND NRGG: (CLAGS OF NATERIAL: SW, SP, SW, AND SG)

SO CoNmSTENgY. Vebiow

~ A SOL BEARING PRESSURE AT GRADE ASSUMED AT A MINIMUM 2000 PSF.

- CONGRETE sHALL BE I ACCORDANCE WTH A0l 3

Ac
CONGRETE SHALL HAVE. A MINMUM COMPRESSIVE. STRENGTH OF 3000 PSI AT 28 DAYS.
O CErRIKD REPAN SUALL MEET AGts GRADE 60 OR PETTE

~ AL WOOD CONSTRUCTION SHALL BE OF MATERIALS SHOWN AND WORKMANSHIP SHALL BE IN ACCORDANGE TO THE NATIONAL FOREST
PRODUCTS ASSOCIATION SPECIFICATIONS FOR WOOD CONSTRUCTI
4, 246, 28 LUMBER SHALL BE #2 SPF OR BETTER UNLESS NOTED OTHERWSE. ALL 2x10 & 2x12 LUMBER SHALL BE AS
SPECIFIED ON' THE BUILDING PRINT.
~ FOR LUMBER REQUIRED TO BE PROTECTED FROM DECAY AND/OR INSECTS, SEE MOST CURRENT AWPA Ut FOR USE CATEGORES AND
EXPOSURE CONDITIONS.

- COLOR MATCHED STEEL TRIMS
- CERAM-A-STAR 1050 PAINT SYSTEM

ALL FASTENERS SHALL BE AS LISTED BELOW UNLESS NOTED OTHERWISE,

— 164 RNGSHANK NALS (14 -
300 RINGSHANK NAILS (1777

~ 809 RINGSHANK NALS (200"¢)

100 RINGSHANK NAILS (.135'
160 RINGSHANK NAILS (148"
300 RINGSHANK NAILS {177

~ COLOR MATCHED GALVANIZED WOODGRIP SCREWS, 410 DIAMETER, 1/4" HEX HEAD.

ALL STEEL PANELS AND TRUSS PRODUGTS SHOULD BE HANDLED AND STORED PER MANUFACTURER SPECIFICATIONS.

ALL FINISHED GRADES TO SLOPE AWAY FROM BUILDING AT A MIN. S% GRADE FOR PROPER DRAINAGE (2% FOR INPERVIOUS SURFACES)

(IBC 1804).

~  TEMPORARY BRACING DURING CONSTRUCTION SHALL BE CONTRACTORS' RESPONSIBILITY. REFER TO BCSI—B1 AND/OR B10 SUMMARY
SHEET "GUIDE FOR HANDLING, INSTALLING, RESTRAINING AND BRACNG OF TRUSSES”, BY THE TRUSS PLATE INSTITUTE (TP1) AND THE

WOOD TRUSS COUNCIL OF AMERICA (WTCA).

~ HEATING, VENTING, AND AR CONDITIONING REQUIREMENTS WERE NOT ADDRESSED ON THE DRAWINGS AND SHOULD BE APPROVED BY
LOCAL GFFICIALS.

~ PLUMBING REQUIRENENTS WERE NOT ADDRESSED ON THE DRAWINGS AND SHOULD BE INSTALLED IN ACCORDANCE WITH REQUIRED
BULDING CODES.

ELECTRICAL REQUIREMENTS WERE NOT ADDRESSED ON THE DRAWNGS AND SHOULD BE INSTALLED IN ACCORDANCE WITH THE
NATIONAL ELECTRICAL CODE AND ANY LOCAL CODES.

- AT SIONS SHALL BF LLUMNATED AT ALL TIES. T0 ENSURE CONTNUED ILUMNATION FOR & DURATION OF NOT LESS THaN 50
MINUTES N CASE OF PRI LOSS, THE EXIT SIGNS SHALL BE CONNECTED TO AN EMERGENCY ELECTRICAL SYSTEW PROVIDED
FROM STORAGE BATTERIES: UNIT EGUIPHENT O AN ON-SITE GENERATOR. THE INSTALCAION OF THE EMERGENCY FONER SYSTEN
SHALL BE N ACCORDANCE WITH THE ICC ELECTRICAL CODE.

~ SHALL COMPLY WTH ICC/ANSI A117.1 CHAPTER .
~ SHALL GOMPLY WITH ICC/ANSI A117.1 CHAPTER 4.

= SHALL GOUPLY WITH IGG/ANSI AT17.1 CHAPTER 3 SECTION 305, HANDLES, PULLS, LATGHES, AND OTHER OPERATING DEVCES ON
ACCESSIBLE DOOR NOT REQURE TIGHT GRASPING, TIGHT
PIRGING. OF TWSTING OF LEVER OPERATED MECHANISMS, TYPE MECHANISUS, AND U-SHAPED
IANDLES: ARE ACGEPTABLE DESIONS. WHEN.SLDING DOORS. ARE FULLY GPENED, OFERATNG, NARDWARE SHALL BE EXPOSED, AND
USABLE FROM BOTH SIDES. HARDVARE REQUIRED FOR ACCESSIBLE DOOR PASSAGE SHALL BE MOUNTED NO HIGHER THAN 48" (1220
MM) ABOVE FINISHED FLOOR, THE THRESHOLD OF SERVICE DOORS MAY NOT EXGEED 1/2" ON EITHER SIDE OF THE DOGR WITH 1:2
SLOPE IF GREATER THAN 1/4".

~ SHALL BE INSTALLED, PROVIDED, AND MAINTAINED AS SPECIFIED IN NFFA NO. 10 (BY OTHERS).

iy,
\\\
Sy ErFREY

NURRAY
E-37360

a 1,
SN\SCONS,,
Sy

ROOF_FRAMING PLAN

ENDWALL SECTION AND SECTION DETALS

SIDEWALL_SECTION_AND SECTION DETAILS

BI—FOLD DOOR DETALS.
STEEL_APPLICATION DETAILS

il sgnes oy setey iy

Dt 2024 0428 66,2237 D500

THE OWNER SHALL PROVIDE AN ALL WEATHER HARD
SURFAGE AREA 30 FEET OR MORE I\ MOTH EXTENDING
AT LEAST 50% OF THE LENGTH OF Of

PROPOSED STRICTURE AND MUST 60 ACCESSBLE 10
FIRE_FIGHTNG EQUIPMENT.

4.
— B
N -
e, 500"
. |
J— wil o,
o Jae
N 7
aoa L, N
4 o - as
. 5 P
L, vy P PROFOSES : T
. . 5060146 500" .
. . B in
A 4 ) B . 41
R - B
afi B
s 10207 e
.t WAGNARY TGT ONE .
R a : .
‘ R
SR 400
4 2
A |
TSAE 7ol
BUILDING INFORMATION;
NAVE: ~ AMERICAN” RENTALS
NOTE ADDRESS: 1741 RIVER DRIVE
SHEET INDEX PROFOSED BUILDING SHALL NOT BE USED T0 ay. RTOWN
STORE UPHOLSTERED FURNITURE OR WATTRESSES. STATE:
SHEET 4 SHEET DESCRPTION : 53094
CONTY. __IEFFERSON
GENERAL NOTES AN SITE PLAN B
CURS RAMPS COMPLYING W/ ADAAG 4.7 ARE
ELEVATIONS REQURED WHEREVER AN ACCESSIBLE ROUTE [
FLOOR PLAN CROSSES A CURS. THE OWNER SHALL PROVIDE DESIGNATED SPAGE WITHIN

OR ADJAGENT T0 STRUGTURE FOR THE COLLEGTION OF
RECYCLABLE MATERIALS AS PER SPS 362.0400(2).

MOIE: PARKING LOT REQUIRES HANDICAP ACCESSIBLE
PARKING, STALLS. (IGG/ANSI A117.1 SECTION 502)

OF STALLS REQUIRED, SEE WSCONSIN
Cobe TN 110

NOTE:

OWNER/CONTRACTOR SHALL PROVIDE A PLAT SURVEY W

PROPOLED BULONG, LOGATIONS AND VERIFY ALL PROPOSED BUILDING
SETBACKS AND LOCATION ON PROPERTY WITH LOCAL BUILDING OFFICIAL
AT TME OF CONSTRUCTION AND MAKE ADJUSTNENTS ACCORDINGLY.

WRe. THAN ONE ACRE OF LAND s DISTURBED BY BULDING ERECTION
AND/OR PARKING AND ACGESS DRIVE SURFACE, THEN THE OWNER/CONTRAGTOR
SHALL SUIT A WATER RESOURCES, APPLICATION FOR PROJECT PERWITS
(WRAPF) AS PER NR 216.

ENGINEERING SERVICES

S IANE A CLATE 1 84703 (715 8768685

FOR QUESTIONS PLEASE CONTACT BULONG
DESIGNER AT
ENGINEERING@MIDWESTANF ACTURING, COM

PROJECT TILE:
AMERICAN
RENTALS

WATERTOWN, WI
PROF. ENGINEER: _ JEFF MURRAY

PLAN DESIGNER: __ CHOUA KHA
DRAWN BY: IS

DATE: 4/26/2024.

SCALE: AS NOTED

REVISIONS

INO[DATE] DESCRIPTION BY.
1

2

SHEET TTLE:

GENERAL NOTES
AND SITE PLAN

SH11324WI

S'1

FILE NAME:
SHEET NO.




CORNER Tkw\
STEEL PANEL\

CORNER mw\
STEEL mm\

NORTH SIDEWALL

|
|

soar
=
STEEL PANEL
CORNER TRM
/cwm M
ke STEEL PANEL
I-FoL
n bo0R
36"xB0” |
Seruce|
00R
5" CONCRETE FLOOR
(MATERIALS BY OTHERS)
W
OWNER TO VERIFY WITH LOCAL OFFICIALS IF
PROPOSED SERVCE DOOR IS AN ACCEPTABLE
WEST ENDWALL MEANS OF EGRESS.
OWNER T0 PROVIDE SUFFICIENT EAVE VENTILATION
TO COVER A MINMUM OF 5 0. FT. (720 5. IN)
AN PEAK HEIGHT P aY
eV, 12510 /6
2= 2
e T STEEL PANEL
il T
/ \ I
ELEV. 11 TI/15°
CORNER TRIM
/cmgn TRIM
STEEL PANEL
GRADE
ELEV. 100 ED
EAST ENDWALL
SCALE: 3/16"=1'-0'

SQUTH SIDEWALL

CORNER TRIM

CORNER TRIM

ENGINEERING SERVICES

St EAVE BD_DAD CLATR 1 54708 (715) $76-8685

FOR QUESTIONS PLEASE CONTACT BUILDING!
DESIGNER AT THE FOLLOWING:
ENGINEERINGGMIDWES TMANUF ACTURING.COM
PROJECT TILE:

AMERICAN
RENTALS

WATERTOWN, WI

PROF. ENGINEER: __ JEFF MURRAY
PLAN DESIGNER: _ CHOUA KHA

DRAWN BY: Ms
DATE: 4/26/2024
SCALE: AS NOTED
REVISIONS
INOD A TE] DESCRIPTION BY
1
2
SHEET TITLE:
ELEVATIONS

FILE_NAM SH11324W

SHEET NO.

/




11/2"—} 4 1/2" | O —

| S — O — ot 6" T-41/2" 1y

,
v
X7
T
S—d
®
,
NOTE:
e B o e s oo
BI-FOLD DOOR A 40'-0"x14'-0" HI-FOLD BRAND BI~FOLD 8
o, | |Te e e
NEW.652.2. OWNER,/CONTRACTOR SHALL
,
ENGINEERING SERVICES
11/2". "4 1/2" '-6" " '-6" '-6" ’-6" -4 1/2" /2 FOR QUESTIONS PLEASE CONTACT BUILDING|
ENGINEERINGGMIDWESTMANUF ACTURING.COM

PROJECT TILE:

Bevsas e 1o covrne or FLOOR PLAN AMERENRTIELSAN
S5 N RS A OIS o g T
SO ST SRS Sy

WATERTOWN, WI

PROF. ENGINEER: __ JEFF MURRAY

PLAN DESIGNER: _ CHOUA KHA

DRAWN BY: MS
DATE: 4/26/2024
SCALE: AS_NOTED
NOIE:
COLUMN & FOOTING SCHEDULE IF CONCRETE FODTINGS ARE POURED ON SITE, THEN FDOTINGS MUST BE A REMISIONS
COLUMN NUMBER NINMUM OF 8 THICK.
(SoLwn GOLUMN DESCRIPTION evBEOMENT | NUMBER FOOTING DESCRIPTION INOJDATE] DESCRIPTION BY
NOE
ST S-PLY (270236 fi SYP LAVINATED COLUWN B " 20°3x6"_CONCRETE FOOTING THIS BUILDING CONTAINS 22 LONG COLUMNS ON BOTH #1 SYP AND 24001 MSR 1
SYP GRADE LUNBER. OWNER/CONTRACTOR TO VERIFY THAT THESE COLUMNS
(77,236 74001 VSR S5 LAMIATED GOLUMN = i CONGRETE FOOTRG | ARE INSTALLED IN THE GORRECT LOGATIONS WTHIN THE BUILDING.
x4 CONCRETE_FOOTING _|
=PLY (22)-26 1 SYP LAWNATED COLUWN = $14™ CONCRETE FOOTING 2
S [ l0 £ S AALD SO = e IWNER TO VERIFY WTH LOCAL OFFICIALS IF PROPOSED SERVICE DOOR IS AN |63
—PLY (25216 1 SVP LAMNATED COLUMN = GONGRETE_FOOTING OMNER 10 YERPY MTH LOCAL O SHEET TITLE:
—PLY (28216 24001 MSR_SYP_LAMNATED COLUVN = "Bx4™ CONCRETE FOOTING |
—PLY (24)-2¢6 24007 M5R_SYP_LAMNATED COLUMN = "$x4” CONCRETE FOOTING FLOOR PLAN

FILE_NAME: SH11324W

SHEET NO.




NOTE:.
THS BUILDING HAS BEEN DESIGNED FOR
0

x n x : . x
A " 1 I M "
' i " u i\ .

BI-FOLD DOOR BRACE o "

(SEE DETAL A/7) H H H H H
. " "
. " H "
I I i i \ i

180" on-ee puRLI \ 15-0" on-ence PURUN

I—FOLD DOOR BRACE " I
(SEE DETAIL A/7) " I H

1 | |
\“i\wn BRACE H H !‘

I I 50'-0" 4/12 PITCH
H I H COMMON TRUSSES
1 H H 7-6" 0.C. (107 H
I
I

" "
" i

570 olon smace H

/ (SEE DETAIL A/7)

(i

WIND BRACE

) H

50'-0" 4/12 PITCH
COMMON_ENDFRAME
0" HEEL)

A 40'-0"X14'~0" HI-FOLD BRAND BI-FOLD J— ———y — — ———
ER HI—F 120590. ‘r RIDGELINE
o 51 vl o ok, i I )
NTACT THE BULOING DESIGNER PRIOR TO 20°K30° UN. ATTIC i
INSTALLING ANY OTHER DOOR. |- [ . ACCESS PANEL "
\ (SEE DETAIL A/7) H H H - (SEE DETAIL B/4)
7 I I
\ i " ! W
i i " L " i
\ BI-FOLD DOOR BRACE i i
(SEE DETALL A/7) H H H H H
" " "
e — i i " " i
) | ” i |
C [ I I
50'-0" 4/12 PITCH I I : H
|~ SmuctikaL enorrave " " i " "
3'-9" 0.C. (10" HEEL) H H N
& H =
\J WND BRACE i W WIND BRACE y
" [ " W/
i, H I H a
R [ H [ [ [
" " " y
. "
“— H H i H H -
\ " " I " y i
\ i i " i
P BI-FOLD D0OR BRACE | 1 H / i o
(SEE DETAL A/7) H H H H H y H
[ [ 4 "
o i i
¢ H i i H i
e a-rashooe e | H H | H
48 1/4 (SEE DETAL A/7) i d i i i
| | | | L/ |
) ) o
SCALE: 1/4=1—-0
70 PROVIDE SUFFICIENT EAVE. VENTILATION ATTIC AREA SHALL BE COMPARTMENTALIZED INTO AREAS NOT
TO COVER A MINIMUM OF 5 SQ. FT. GREATER THAN 3000 SO. FT. BY FIRE STOPPING AS SPECIED N
BC 717.4.3. EVERY ATTIC COMPARTMENT SHALL BE PROVIDED WITH
A 20"x30" ACCESS PANEL FROM LOWER AREA OR ACCESS PANELS
IN COMPARTMENT WALLS SHALL BE PROVIDED WITH SELF GLOSING
DEVICES. (INCLUDES OVERHANGS)
TRUSS BoTTOM
TRUSS CHORD FRAMING NAILER
THE PURLIN OVERLAPS SHALL BE
SECURED W/(3)-10d RINGSHANK
ROOF PURUN 'y NALS IN THE OUTERMOST 6 OF
THE PURLIN LAP, EACH END.
L 3 FRAMING NAILER FRAMING NAILER
; T T T ~N e
R0
o]
NOTE: |
WND BRACE SHALL BE A 2x4 PLACED ON THE UNDERSIDE
OF THE ROOF PURLINS. WIND BRACE SHALL BE SECURED
W/(2)-30d RINGSHANK NAILS AT EACH END AND W/(1)-10d
RINGSHANK NAIL AT EACH BRACE 0 PURLIN LOCATION. FRAMNG NALER

NQIE:
LATERAL BRACING IS REQUIRED. SEE TRUSS SPECIFICATION
SHEET(S) FOR LATERAL BRACE LOCATIONS.

NOTE.
2x4 ROOF PURLINS (ON-EDGE). THE FIRST (4) ROWS OF PURLINS
AFTER_THE PEAK PURLIN SHALL BE AT 23" O.C. WTH THE BALANGE

T 24° OOF PURLINS ARE TO BE SECURED TO THE TRUSS
W/(1)-60d RINGSHANK NAIL AT EACH PURLIN TO TRUSS LOCATION.

(A PURLIN OVERLAP DETAIL
.— SCAL

Tmuss sorTou
/ cHoRD

V

(AATTIC ACCESS FRAMING
‘— SCALE: 3/#

ENGINEERING SERVICES

St EAVE BD_DAD CLATR 1 54708 (715) $76-8685

FOR QUESTIONS PLEASE CONTACT BUILDING!
DESIGNER AT THE FOLLOWING:
ENGINEERINGGMIDWES TMANUF ACTURING.COM

PROJECT TILE:
AMERICAN
RENTALS

WATERTOWN, WI

PROF. ENGINEER:

JEFF_MURRAY

PLAN DESIGNER: __ CHOUA KHA

DRAWN BY: Ms

DATE: 4/26/2024

SCALE: AS NOTED
REVISIONS

INOD A TE] DESCRIPTION BY

1

2

SHEET TITLE:

ROOF FRAMING PLAN

FILE NAME:
SHEET NO.

SH11324WI

S'4

/




TRUSS

CEILNG INSULATION
W/ 4 ML POLY

Ay mouLsmon

\

steel. caLnG Uner
2¢4 CELING NALER

— J~TRIM W/ LARGE FRIEZE
\> 24 WALL NAILER

N
STEEL PANEL
N

~a-- STEEL WALL LINER

[\ DETAIL
SCALE: 1 1/2°=T

WAL GIRTS:
WALL GIRTS SECURED WITH (2)-30d RINGSHANK NAILS AT EACH
GIRT TO COLUMN LOCATION.

NIERIOR TREATED GRADFBOARD:
TREATED GRADEBOARD SECURED WITH (2)-30d RINGSHANK NAILS
AT EACH GRADEBOARD TO COLUMN LOCATION.

TREATED GRADEHOARD SECURED WTH (4)—30d RINGSHANK NAILS
AT EACH GRADEBOARD TO COLUMN LOCATION.

IREATED ANCHOR BLOCKS:
TREATED ANCHOR BLOCKS SECURED TO EACH FACE OF THE COLUMN
AT THE BASE WITH (4)-30d RINGSHANK NAILS, EACH BLOCK.

SIDEWALL SECTION FASTENER NOTES

NOTE:

OWNER SHALL PROVIDE THICKNESS MARKERS WHICH ARE INSTALLED
AT LEAST ONE FOR EVERY 300 SQUARE FEET THROUGHOUT THE
ATNIC SPACE IF THE INSULATION IS BLOWN INTQ PLACE. THE

MA FIXED TO THE TRUSSES AND MARKED WITH
THE MINMUN_ INITIAL INSTALLED THICKNESS AND MINMUM_SETTLED
THICKNESS. EACH MARKER SHALL FACE THE ATTIC ACCESS PANEL.

WALL INSULATION

couwnn
BN S 2
\ vs\a WALL UNER

/[
/

BOTIOM TRIM

2x4 PEAK PURLNS BUTTED END TO END AND

ALL OTHER PURLINS WILL OVERLAP 6" MIN.

EXTEND STEEL PAST PEAK
PURLIN-OVERLAP VARES PER
OWNER'S SPECIFICATIONS

UNIVERSAL RIDGECAP

2x4 PEAK PURLIN PREMIUM VENTED QUTSIDE CLOSURE STRPS

(M\PEAK PURLIN DETAIL
.7 SCALE 3

PRO-RIE STEEL PANEL SECURED PER
STEEL APPLICATION DETAIL SHEET.

2x4 ROOF PURLINS (ON—EDGE)
(SEE ROOF FRAMING PLAN)

TRUSS PLAGED INTO COLUMN:
FULL BEARING. (SEE DETALL F/5)

(R=38) CEILING INSULATION
W/ 4 MIL PoLY

TRUSS BEARING
ELEV. 11

EAVE (SEE DETAL G/5)

PRO-RIB STEEL
CEILING LINER

WTH THE LG
PRO-RIB_STEEL PANEL SECURED PER
STEEL APPLICATION DETAIL SHEE'

WA

IS REQUI
EXTERIOR FINISH

RN

Wi

W

R T

PRO-RIS STEEL WALL LINER
SECURED PER STEEL

0

APPLICATION DETAIL SHEET.

i

2x6 BOOKSHELF CIRTS © 24” 0.C.
(START GIRT SPACING @ FINISHED
FLOOR)

FARAN

(R~18) WALL INSULATION
VAPOR BARRIER

R

N

COLUMN (SEE COLUMN
& FOOTING SCHEDULE)

PR AARE

2x4 TREATED GRADEBOARD

2x8 TREATED GRADEBOARD: (SEE DETAL B/5)

(SEE DETAL B/S5)

GRADE
ELEV. 100

5 CONCRETE FLOOR
(MATERIALS BY OTHERS)

(R=10) HIGH DENSITY PERINETER INSULATION

5" CONCRETE FLOOR
(MATERIALS BY OTHERS)

eates crrvedoro— ?vmm GRADEBOARD

\ {
< 7

PRINETER NSULATIN %

(5 GRADE DETAIL (SIDEWALL
& <cnE 1 1721

6 ML (0.006 INCH)
POLYETHYLENE

(REQUIRED IN HEATED BUILDINGS)

2x6x12" TREATED ANCHOR BLOCKS

PRECAST CONCRETE FOOTNG (SEE
COLUMN & FOOTNG SCHEDULE) |

6 MIL (0.006 INCH)

LESS THAN 8 INCHES

EMBEDMENT TO
TOP_OF FOQTING
(SEE COLUNN &

FOOTING SCHEDULE)

(A\SIDEWALL SECTION
‘7 SOALE: 1/2=1-0"

ADD 2x4_SPLICE BLOCKING AS
NEEDED TO PREVENT SPLITTING.

) I ol

TRUSS.

COLUMN

2x4 EDGE PURLIN SECURED SPUICE
70 BLOCKING © EACH SPLICE

W/(6)-10d RINGSHANK NALLS,

EACH SIDE OF SPLICE.

@ EDGE _PURLIN DETAIL

FIELD CUT EXTERIOR PLIES OF-
COLUMN 3" ABOVE THE TOP OF
TRUSS. THIS WILL ALLOW NAILING
AREA FOR THE EDGE PURLIN.

FIELD CUT BEARING BLOCK
TO PROPER LENGTH FOR
TRUSS BEARNG.

TRUSS PLACED INTO COLUMN:

INSERT BEARING BLOCK INTO SECURED W/(4)-30d RINGSHANK

COLUMN AND SECURE EACH NALLS, (2) NAILS EACH SIDE.

SIDE W/(2) ROWS OF 10d

RINGSHANK NAILS STAGGERED

" 0.C.

TRUSS INSTALLATION DETAIL
@—Nm 70 SCALE

2x4 EDGE PURLN
SECURED © EACH
COLUMN W/(1)-30d
RINGSHANK NAIL.

ENGINEERING SERVICES

St EAVE BD_DAD CLATR 1 54708 (715) $76-8685
FOR QUESTIONS PLEASE CONTACT BUILDING!
DESIGNER AT THE FOLLOWING:

ENGINEERINGOMIDWESTMANUFACTURING. COM

PROJECT TILE:
AMERICAN
RENTALS

WATERTOWN, WI
PROF. ENGINEER: _ JEFF MURRAY
PLAN DESIGNER: CHOUA KHA

DRAWN BY: Ms

DATE: 4/26/2024

SCALE: AS NOTED

REVISIONS

INOD A TE] DESCRIPTION BY
1

2

SHEET TITLE:

SIDEWALL SECTION AND
SECTION DETAILS

FILE_NAME: SH11324W

SHEET NO.




SIDEWALL SECTION FASTENER NOTES

WALL GIRTS
WALL GIRTS SECURED WIH (2)-30d RNGSHANK NALS AT EACH
GRT TO COLUMN LOC/

IERIOR TREATED GRADEEOARD:
TREATED GRADEBOARD SECURED WITH (2)-30d RINGSHANK NAILS
AT EACH GRADEBOARD T0 COLUMN LOCATION.

EXTERIOR TREATED GRADEBOARD:
TREATED GRADEBOARD SECURED WITH (4)-30d RINGSHANK NAILS
AT EACH GRADEBOARD T0 COLUMN LOCATION.

IREAIED ANCHOR BLOCKS:
TREATED ANCHOR BLOCKS SECURED TO EACH FACE OF THE COLUMN
AT THE BASE WITH (4)-30d RINGSHANK NALLS, EACH BLOCK.

MO
OMNER SHALL PROVIDE THIOKNESS MARKERS WHICH ARE INSTALLED
EVERY 300 SQUARE
ot

VARKERS, SHALL BE ARFXED 10 THE TRUSSES AND MARKED wimd
THE MINMUM INITIAL INSTALLED THICKNESS AND MINIMUM SETTLED
THICKNESS. EACH MARKER SHALL FACE THE ATTIC ACCESS PANEL.

NOTE:

CONGEALED WALL SPACES SHALL HAVE FIRE BLOCKING AT CEING
AND FLOOR LEVELS AND HORIZONTAL INTERVALS NOT EXCEEDING 10"
PER IBC 718.2. FIRE BLOCKING MAY CONSIST OF TWO INCH NONINAL
WATERIAL OR INSULATION MEETING IBC REQUIREMENTS.

GABLE (SEE DETAL D/6)

PRO-RIB STEEL PANEL SECURED PER
STEEL APPUICATION DETAIL SHEET.
2x4 ROOF PURLINS (ON—EDGE)
(SEE ROOF FRAMING PLAN)

ENDFRAME:
ENDFRAME SECURED TO ALL ENDWALL

COLUMNS WITH (7)-30d RINGSHANK NALS
AT EACH ENDFRAME TO COLUMN LOCATION.

ENDFRAME

CEILING CONNECTION
(SEE DETAIL C/6)

PRO-RIE STEEL PANEL SECURED PER
STEEL APPLICATION DETAIL SHEET.

LN

2x4 FLAT WALL GIRTS @ 24" 0.C.

246 BOOKSHELF GRTS © 24" 0.C.
(START GRT SPAGING © FINSHED
FLOOR)

=~
K
=
=
3
=3

=
=
1
K
=~
=~
=3

=
=3
_’I
s
s
=~
=4
=~
o2

3
&
=3
K
=~
=
=

=
=1

COLUMN (SEE COLUMN
& FOOTING SCHEDULE)

2x8 TREATED GRADEBOARD
(SEE DETAIL B/6)

[~ (x50 caune msuanon
W/ 4 MIL P

EnorrAuE BEARG 1

ELEV. 114~

PRO-RB STEEL
CEILING LNER

VERIFY WITH THE LOCAL

s
EXTERIOR FINISH.

PRO-RIB STEEL WALL LINER
SECURED PER STEEL
APPLICATION DETAIL SHEET.

(R=19) WALL INSULATION
W/ VAPOR BARRIER

2x4 TREATED GRADEBOARD
(SEE DETAL B/6)

(R=10) HIGH DENSITY PERMETER INSULATION
(REQURED IN HEATED BUILDINGS)

2x6x12" TREATED ANCHOR BLOCKS

PRECAST CONCRETE FOOTING (SEE:
COLUNN & FOOTING SCHEDULE)

GRADE
ELEV. 1000
5" CONCRETE FLOGR
(MATERIALS BY OTHERS)
6 MIL (0.006 INCH)
POLYETHYLENE W/ EMBEDMENT T0
JOINTS LAPPED NOT TGP OF FOOTING
LESS THAN 6 INCHES (SEE COLUMN &

FODTING SCHEDULE)

. ENDWALL SECTION
&/ seaLe: 17/

/
GABLE TRM

[ evorrae

STEEL PANEL
\

GEILING INSULATION

ENDFRAME
W/ 4 ML PaLY

26 FIRE BLOCKING

STEEL PANEL

WALL INSULATION
STEEL CEING LNER
2¢4 CELNG NALER
J-TRM W/ LARGE FRIEZE
[N 2t waik waiem

STEEL WALL UNER

N\ otz

(S CEILING CONNECTION DETAIL
._ SoE 1 1/2er0

WAL \Nsuumm
couum
STEEL PANEL: /<
\ svz\n WALL UNER
o o /mmm aroesoar
Bm’vuu TRM /
NN 5" CONCRETE FLOOR
| (MATERIALS BY OTHERS)
T |

= = POLYETHYLENE

3

PERIMETER INSULATION ~

‘ GRADE DETAIL (ENDWALL
SCALE T

ENGINEERING SERVICES

St EAVE BD_DAD CLATR 1 54708 (715) $76-8685

FOR QUESTIONS PLEASE CONTACT BULONG)
ENONEERINOOMIDHES AU ACTURING.COM
PROJECT TILE:

AMERICAN
RENTALS

WATERTOWN, WI
PROF. ENGINEER: _ JEFF MURRAY
PLAN DESIGNER: CHOUA KHA

DRAWN BY: Ms
DATE: 4/26/2024
SCALE: AS NOTED
REVISIONS
INOD A TE] DESCRIPTION BY
1
2
SHEET TITLE:

ENDWALL SECTION AND
SECTION DETAILS

FILE_NAME: SH11324W

SHEET NO.

/




STEEL PANEL\ /RW PURLIN

2x4 NAILER SECURED TO PURLINS W/(2)-30d
RINGSHANK, ACROSS 2 PURLINS.

STRUCTURAL ENDFRAME

DEPTH
il STEEL PANEL-

2-PLY 2x12012" §2
HF BLOGKNG

1-PLY 246 BI-FOLD DOOR
BRACE, EACH SIDE OF JAVB
OLUMN OR BLOCKING.

BRACE SECURED TO BLOCKING
W/(4)-30d RINGSHANK NAILS.

STEEL PANEL-

NOTE.
STEEL CELING AND WALL LINER NOT

BI~FOLD DOOR SHOWN FOR CLARITY OF BRACE DETAL.

NOTE:
OMIT THE 2-PLY 2x12x12" §2 HF BLOCKING

AT THE JAMB_COLUMN. SECURE BRACE
DIRECTLY TO_THE JAMB_ COLUNN.

—FOLD _DOOR BRACE @ HINGE LOCATIONS

(B!
7S CAiE: 374

J-TRM
STEEL WAL LNER

\

L-4 TRM

24 NALLER, SECURED TO PURLINS W/(2)-30d
RINGSHANK NALS, ACROSS 2 PURLINS.

GRIP FAST 5/8" CLASS C HDG SQUARE WASHER

MITEK KHL33 HEAVY ANGLE BRACKET SECURED
O BRACE W/{1)-5/679 BOLT AND SECURED
0 TRUSS W/(1)-5/8" BOLT.

BOOKSHELF GIRT
HEM TRIM /

)

COLUMN
L-6 TRM

2x8 DOOR JAMB SECURED TO COLUMN
W/(2)-30d RINGSHANK NAILS @ 24" O.C.

Ve FLAT WALL GRT

Z

BI~FOLD DOOR

1 710

STEEL PANEL:

5" X 10 GA. PRIMED STEEL
HEM TRIM REINFORCEMENT RAIL (BY DOOR WFG.)

BI—FOLD DODR AUXILIARY
ARM TR (SEE DETAILS)

BI—FOLD DOOR JAMB DETAIL

1/2" L 2 :/0

«l zv/z"L

AUXILARY UPPER ARM TRIM DETAIL

J-TRM

2.3/4
778

Tl

NOTE.
THIS BULDING HAS BEEN DESIGNED FOR
THE YEKHT, MONTING HEIGHT, ETC. OF

~0" HI—FOLD BRAND BI-FOLD
DoGR FER - an QUOTE 120590,
NEW.652.2. OWNER /CON

CONTAGT THE BUROING DESONER. PRIOR T0
INSTALLING ANY OTHER DOOR.

AUXILIARY LOWER ARM TRIM DETAIL

STEEL pmn\

212 VERTICAL WEB PRE-PLATED
INTO STRUCTURAL ENDFRAME N

2-PLY 2412 2
HF BLOCKING

=me [H
—_—— L
SILICONE S NE:ESSARY\/
wa\\\{ 1
o

NOTE:
¥ o ovrmmie e 1o . oo | SRS g

OLUMNS W/(7)-30d RINGSHANK NAILS AT EACH
STRUCTURAL N OFRAME TOCOLOMN LOGATION.

NOTE:
STEEL CEILING LINER NOT SHOWN
A FOR CLARITY OF TRIMS DETAIL

NOTE:
OMIT THE 2-PLY 2x1212" 2 HF BLOGKNG
AT THE

STEEL mm\

JAMB COLUMN. SECURE BRACE
DIRECTLY T0 THE JAMB COLUMN.

BI-FOLD DOOR ~

\

BI—FOLD DOOR DETAIL

SCALE. 11/

NITEK KHL33 HEAVY ANGLE BRACKET SECURED
TO BRACE W/(1)-5/8"% BOLT AND SECURED
TO TRUSS W/(1)-5/8"8 BOLT.

R ——
o oo ~

INTO STRUGTURAL ENOFRAVE \
1

2-PLY 2x12x12" #2 HF BLOCKING

OMIT THE
AT THE JAMB COLUNN. SECURE BRACE e
DIRECTLY TO THE JAMB COLUMN.

BI~FOLD DOOR HINGE:

2-PLY 2x12 #2 HF BLOCKING

(12" LONG AT DOOR BRACES) 2+ ENDWALL BRACE

BI—FOLD DOOR BRACE TOP VIEW

SCALE: 11/2=T

[~ —GRP FAST 5/8" CLASS C
Vma SQUARE' WASHER
| s e v

GRIP FAST 5/8" CLASS C
HDG SQUARE WASHER

ENGINEERING SERVICES

a1 EAVE BD_EAD CLATR I 54708 (715) $76-8665

FOR QUESTIONS PLEASE CONTACT BULONG
(GNER AT THE FOLLO
ENONEERINOOMIDHES MANOF ACTURING.COM
PROJECT TILE:

AMERICAN
RENTALS

WATERTOWN, WI
PROF. ENGINEER: _ JEFF MURRAY

PLAN DESIGNER: __ CHOUA KHA

DRAWN BY: Ms

DATE: 4/26/2024

SCALE: AS NOTED
REVISIONS

INO[D A TE] DESCRIPTION BY

2

SHEET TITLE:

BI-FOLD DOOR DETAILS
FILE_NAME: SH11324W
SHEET NO.

S'7

/




qumAP\
#10-1" WOODGRIP SCREWS (1/4° HEX HEAD)

ON BOTH SIDES OF EACH MAJOR RIS

(SEE PANEL END STEEL LAP DETAIL)

#10-1" WOODGRIP_SCREWS (1/4" HEX HEAD)
ON ONE SIDE OF EACH MAJOR RIB.
(SEE PANEL INTERMEDIATE LAP DETAIL)

ROOF PURLN

ENDFRANE TOP CHORD

#10-17 WOODGRIP SCREWS (1/4” HEX HEAD)
ON_BOTH SIDES OF EACH MAJOR RIB.
(SEE PANEL END STEEL LAP DETAIL)

ENDFRAME LATERAL
STEEL WALL PANEL APPLIED FROM THE PEAK
OF THE ENDWALL AND RUN TO THE CORNERS.
#10-1"
ON ONE
(SEE PANEL INTERMEDIATE LAP DETAIL)

WOODGRF SCREWS (1/4” HEX HEAD)
SIDE OF EAGH MAJOR RE.

R NDWA APPLICATION PEAK & INTERM

10-1" WOODGRIP SCRES (1/4" HEX HEAD)
ONE SIDE OF EAGH MAJOR R,
£ PANEL INTERMEDIATE LAP DETAIL)

#10-1" WOODGRIP SCREWS (1/4” HEX HEAD)
ON BOTH SIDES OF EACH MAJOR RIB.

(SEE PANEL END STEEL LAP DETAL)

STEEL ROOF PANEL APFLIED 2 MIN.
BEYOND EDGE PURLIN/FASCIA BOARD

EDGE PURLIN/FASCIA BOARD
#10-1" WOODGRIP SCREWS (1/4° HEX HEAD)
ON HOTH SIDES OF EAGH MAJOR RS,
(SEE PANEL STEEL END LAP DETAIL)

ENDFRAME BOTTOM CHORD
#10-1" WOODGRIP SCREWS (1/4” HEX HEAD)
ON ONE SDE OF EACH MAJOR RIB.

BOOKSHELF GIRT .
(SEE PANEL INTERMEDIATE LAP DETAIL)

FLAT GIRT

STEEL WALL PANEL (BE SURE FIRST SHEET IS APPLIED
ACCURATELY & SQUARED.)

APPLICATION © EAVI

F

¥ o —]|
IS

PROPER LAPPING OF STEEL PANEL IS VERY IMPORTANT N THE PANEL'S ABILITY TO PREVENT LEAKING. OVERSEATING AND
UNDERSEATING OF LAP IS NOT PERNITTED.

FASTENER TIGHTNESS IS CRITICAL IN THE LONGEVITY OF THE FASTENER'S ABILITY TO HELP PREVENT LEAKS AND STRUGTURAL
LOAD CARRYING CAPACITY. OVER-TORQUING OF SCREWS WILL REDUCE THE SCREWS WITHDRAWAL CAPACITY, RECARDLESS OF
THE CONSTRUCTION MATERIALS INVOLVED. UNDER-TORQUING OF SCREWS WL INCREASE THE POTENTIAL OF ROOF LEAKS.

FASTENER LOCATION IS CRITICAL FOR INSTALLERS TO MINIMIZE THE POTENTIAL OF OIL CANNNG, DIMPLES, AND OTHER
APPEARANCE RELATED ISSUES.

THE ANTI-SYPHON DRAIN CHANNEL MUST BE CLEAR OF DEBRIS AND OBSTRUCTIONS FOR THE PANEL'S ABIITY TO MINIMIZE
THE POTENTIAL OF CAPILLARY ACTION OF WATER FROM GETTING UNDER THE STEEL PANEL.

L) 18™

r——q’a ‘Hq
L=

s

PANEL END STEEL LAP DETAIL PANEL INTERMEDIATE LAP DETAIL
AE

NOT 10 SCALE NOT 10 SC

UNDERLAP PIECE

NOTE:

THE RECOMMENDED PROCEDURE FOR APPLYING CEILING LINER IS,

APPLYING 1" WOODGRIP SCREWS FROM_ONE END OF THE PANEL, HOLDING THE PANEL FLAT
TO THE BOTTOM CHORD OF THE TRUSSES AND BETWEEN THE TRUSSES, THEN APPLYING
ONE_SCREW ON BOTH SIDES OF EVERY NAJOR RIB INTO THE FIRST TRUSS. THEN THE
MIDDLE TRUSS, THEN FINALLY AT THE THIRD TRUSS WHERE THE PANEL WILL OVERLAP THE
TRUSS 3". THE NEXT PANEL ATTACHED T0 THE TRUSS WTH 1* OR LONGER WOODGRP
SCREWS ON BOTH SIDES OF EVERY MAJOR RIB. A STITCH SCREW NEEDS TO BE APPLIED AT
THE SIDE BY SIDE OVERLAP OF THE PANEL NEXT TO IT HALF WAY BETWEEN EACH TRUSS.

TRUSS TRUSS TRUSS

/uvzmv PIECE UNDERLAP PIECE ‘-

OVERLAP

#1017 WOODGRP SCREW
(1747 HEX_HEAD) ON BOTH

BOOKSHELF GIRT

/smsmr GRT
#10-1" WOODGRIP_SCREWS (1/4” HEX HEAD)

ON ONE SIDE OF EACH NAJOR RIB.
(SEE PANEL INTERMEDIATE LAP DETAIL)

FLAT GRT

#10-1" WOODGRIP SCREWS (1/4” HEX
HEAD) ON ONE SIDE OF EACH MAJOR RIB.
(SEE PANEL INTERMEDIATE LAP DETAIL)

STEEL ENDWALL PANEL- OVERLAP

STEEL RISE (SEE GRADE DETAIL)

#10-17 WOODGRIP SCREWS (1/4” HEX HEAD)
BOTTON TRM (OPTIONAL) ON BOTH SIDES OF EACH MAJOR RIB.

(SEE PANEL END STEEL LAP DETAIL)
STEEL SIDEWALL PANEL (BE SURE FIRST SHEET IS APPLED

#10-1" WOODGRIP_SCREWS (1/4” HEX HEAD)
MAJOR RIB. ACCURATELY & SQUARED.)

ON BOTH SIDES OF EACH
(SEE PANEL END STEEL LAP DETAIL)

WALL STEEL APPLICATI RADEBOAR

Al A Al

SIDES OF EACH MAJOR RE.

- STEEL CEILING \ 10-1" WOODGRIP SCREWS
3/4" STITCH SCREW. #
STV A TRss LINER PANEL (1/4" HEX HEAD) ON BOTH
AT SIDE BY SIDE OVERLAP SIDES OF EACH NAJOR RIB.

3/4" STITCH SCREW. #10- GRIP SCREWS
BETWEEN EACH TRUSS (1/4" HEX HEAD) ON BOTH
AT SIDE BY SIDE OVERLAP  SIDES OF EACH MAJOR RIE.

SoAL

36" COVERAGE
TRUSS BOTTOM CHORD 2

STEEL CEILING LINER—LAP DETAIL

NOT 10 SCALE

ENGINEERING SERVICES

St EAVE BD_DAD CLATR 1 54708 (715) $76-8685

FOR QUESTIONS PLEASE CONTACT BUILDING!
DESIGNER AT THE FOLLOWING:
ENGINEERINGGMIDWES TMANUF ACTURING.COM

PROJECT TILE:
AMERICAN
RENTALS

WATERTOWN, WI

PROF. ENGINEER: __ JEFF MURRAY

PLAN DESIGNER: _ CHOUA KHA
DRAWN BY: Ms

DATE: 4/26/2024

SCALE: AS NOTED

REVISIONS

INOD A TE] DESCRIPTION BY
1

2

SHEET TITLE:

STEEL APPLICATION DETAILS

FILE NAME:
SHEET NO.

SH11324WI

S8

/




